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Part 1. Vocabulary

Directions: Questions (1)-(20) are incomplete sentences. Beneath each sentence (or set of
sentences) you will see 4 words or phrases, marked (4), (B), (C), and (D). Choose the one word
- or phrase that best completes the sentence(s). Then, write in the letter of the answer you have

chosen on the answer sheet.

(1) The ( ) of the event was a great success.
(A) outcome ' (B) outgo
(C) overcome (D) undergo

(2) The Nepalese monarchy was formally ( ) in 2008.

(A) abolished ~ (B)extracted
(C) polished (D) subtracted
~ (3) This hotel () both business and leisure travelers.
(A) accelerated (B) accommodates
(C) accumulates (D) accustomed
(4) The team won ten ( ) games at the beginning of this season.
~ (A) comprehensive (B) compulsive
(C) consecutive (D) constructive

(5) The river's annual flood changed the dry land into ( ) ﬁelds.

- (A) fertile (B) hostile
(C) reptile ‘ (D) textile
(6) Though John was deceived by his sister, he has no ( ) toward her.
(A) intentions (B) interest
(C) malice - (D) regrets
(7) The company had been trying to win local government ( ) for a department store with a
parking lot. ,
" (A) approval (B) competition
(C) enhancement (D) legislation
- (8) If the chair is at least 100 years old, it is an ( ) antique.
(A) ambiguous (B) authentic
(C) eminent : (D) obsolete
(9) My brother tried to ( | ) some money each month to start his business.
(A) lay aside . (B) lay down
- (C) put about (D) putback
(10) ( )ra positive mental attitude in yourself is essential to be successful in any profession.
(A) Advancing (B) Cultivating
~ (C) Learning (D) Mitigating
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(11) Since there are few clues available, the detective can only ( ) what happened.

(A) conjure ~ (B) explicate
(C) retrieve A ] (D) surmise
(12) Sending such an email message to your boss is a fairly ( ) move.
(A) bald ' ~ (B) bashful
(C) blushing (D) bold
(13) I have to really ( ) to keep up with everybody in class.
| (A) embargo ' (B) engage
(C) stride (D) struggle
(14) In ancient Greece, acting was thought of as a ﬁoble ( ).
(A) aspiration B) blood:
~ (C) calling | _ " (D) procession
(15) The symphony was () to Napoleon Bonapafte.
(A) dedicated ' (B) delegated
(C) deposited ' (D) devoted
(16) Not many people know that "radar" was originally an (. ) of "radio détecting and ranging."
(A) abbreviation (B) estimation
(C) implication - (D) invention -

(17) The cﬁtics were ( ) in their opposition to the bill.

(A) coincidental - (B) dignified
(C) trueborn | 4 (D) unanimous
(18) My wife and I have been collecting travel () with an eye to going to Asia next summer.
(A) agents (B) banquets '
~ (C) brochures - (D) panels
(19) New York City is known to have a ( | ) population.
(A) heterogeneous (B) honorarium
(C) rhiscellaneous (D) reverted
(20) A huge tree blown down by the tornado wasan ( =~ ) to traffic.
" (A) objection ~ (B) objective ’
(C) obscurity (D) obstacle



Part 2. 'Structure

Directions: Questions (21)-(40) are incomplete sentences. Beneath each sentence (or set of
sentences) you will see 4 words or phrases, marked (A), (B), (C), and (D). Choose the one word
or phrase that best completes the sentence(s) Then, write in the letter of the answer you have

chosen on the answer sheet.

(21) The photocopieris (. ) order again and it'll take a few days to repair it.
(A) in | (B) out of |
(C) under - (D) without

(22) A spiral line is a line that () into itself.
(A) keeps and curves- : (B) keeps curving
(C) keeps to curve A (D) keeps to curving

23)( ) paintings are filled with bright colors. |
(A) No every (B) None
(C) Not all (D) Not every

(24) Long ago in a small village, there lived an old man and his wife who wanted a child.
"( ) blessed with a child," they said.

(A) Be may we ' (B) Be we may
(C) May be we (D) May we be
(25) The teacher explained ( ) in a way that even we could understand.
(A) about things tous (B) things to us
(C) us about things (D) us things

(26) Aesop knows that people don't like to be told when they are bad. ( ) many of his fables
have animals in them.

~ (A) Because © (B) That is because
: '(C) THat is why (D) Why
(27) Mary would go 'to the musical ( -~ ) get an advanced ticket.
(A) if she could ' (B) if she would .
(C) was she able to (D) would she have been able to

(28) The university owed ( ) for the construction of the laboratory.
| (A) for the company thirty million dollars (B) thirty million dollars on the company
(C) the company thirty million dollars (D) to the company thirty million dollars

(29) The development of the light bulb ( ) partly as a result of the widespread avaﬂability
of electricity and the need for cheap, clean light. .
(A) occurred (B) occurring

(C) was occurred (D) was occurring‘



(30) Because she did not like the first kind of flowers, she asked the salesperson to show her
« ) _
(A) another kind (B) another kinds

(C) other’s kinds ; (D) other’s ones
(31) That show was ( ) that I turned the TV off immediately.
(A)asbored (B) as boring
(C) so bored (D) so boring
: ‘(32’) John Strickland is one of those people who ( ).
(A) are a skillful craftsman © (B) are skillful craftsmen
(C) is a skillful craftsman (D) is skillful craftsmen
(33) Mary had ( ) dieting before she sees a doctor. '
-(A) better not start ‘ (B) better not to Start
(C) not better started (D) not better starting
'(34) Never ( ) such an inspiring story.
(A) have in my life I heard (B) I have heard in my life
(C) in my life have I heard ; (D) in my life I have heard
(35) Many children with obsessions, ( ), don't have this type of personality.
(A) although (B) but
(C) however _ (D) whereas
(36) The box remains ( ) temperature as the environment.
(A) a same - (B)anequal
~ (C) the equal (D) the same
(37) Andrew is one of the Students who will benefit (- ) a special donation from the Green
Foundation. ‘
(A) at financially - (B) financially for
(O) financially from (D) in financially
(38) The brakes of that used car on sale need ( )
(A) adjusted | (B) adjusting
(C) to adjust S (D) to adjustment
(39) I would like to have ( ) about the current political situation of that country.
(A) a few information (B) a few informations
(C) a little information - (D) a little informations
(40) We ( ) to the church on Pleasant Street every Sunday.
(A) are used to go : ; (B) used to go
(C) used to going ‘ k (D) were used to go



Part 3. Reading Comprehension

Directions: Read the following passage and choose the one best answer, (A), (B), (0), or (D), to

each question. Then, write in the letter of the answer you have chosen on the answer sheet.

Who lives a more sustainable life, people in urban areas or those in rural areas? Another way to
ask this question might be, who creates a larger carbon footprint, those living in the city or
“those living in the country? It must be noted, however, that regardless of how related and

- interconnected the issues are, sustainable living and green living are different concepts.

The term “sustainability” means the pr'actice of maintaining the healthy existence of a
community without exhausting natural resources used to sustain that community. Another
way to put it, sustainability is the practice of harvesting things like foodstuffs and building
materials while using energy resources sb that the harvésted goods and the energy resources
are not depleted or permanently damaged. For example, a particular fishery 1s sustainably
harvested if it is replenished at the same rate it is consumed; a particular fruit or vegetable -
crop is sustainably harvested if the energy used to grow, harvest, and transport it is equal to
the energy contained within it. Importantly,.the energy and resources used in the harvest and

production of foodstuffs must be renewable and safe for the environment.

The degree of sustainabﬂity a family practices is measured by the amount of food and energy it
produces relative to what it consumes and the impact done to the environment as a result.
Families living in rural areas as well as families living in urban areas can install electric solar
panels and hot water solar panels on the roofs of the buildings‘ they live in to pfoduce the
energy, heat, and hot water they need with nothirig more than the clean rays of the sun. And
many more rurai households than city households live in buildings on which panels can be
installed. (You can’t put solar panels on your rented apartment roof.) Gardens large enough to
grow fruit and vegetables and areas big enough to raise ]ivestock to feed yourself with are
substantially more available to rural residents than city folk. (It is possible to keep a small

gérden on one’s balcony but not a brood of chickens!)

Organically grown produce causes relatively minimal harm to the environment and is
healthier to the 'body, while produce grown with chemical fertilizers, herbicides; and
insecticides causes great damage to the environment and 1s knoWn to be the cause of numerous
physical illnesses. The term “food miles” is used to describe the distance that food travels from
the place it is produced to the kitchen in which it is consumed. The more food miles a p'roduct
has, the more harm it does to the environment. ‘Organic ‘produce contains no chemical
preservatives, so it generally is not transporfed as far as chemically treated foodstuffs. Thus,

organic products grown close to home represent a highly suétainable practice.
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‘ The term “carbon footprint” refers to the total amount of greenhouse gases produced to support
human activities, usually expressed in equivalent tons of carbon dioxide (COgz). Other
greenhouse gases such as methane (CH4) and ozone (Os) are also taken into account for the
carbon footprint. For instance, the world’s 1.5 bi]]ion cattle raised for meat and dairy products
produce massive quéntities of methane, which is 23 times mofe harmful to the atmosphere
than COz2. These 1.5 billion cattle are i‘esponsible for 18 percent of the greenhouse gases that
cause glqbal warming. Anothér little-known yet major source of greenhouse gasses is electricity,
as most of the world’s electricity is produced at coal and oil power plants. In fact, all the goods a
household consumes contribute to its carbon footprint as a byproduct of their production and

transportation.

Interestingly, studies have shown that city dwellers, who fréquently use public transportation,
occupy smaller-than-average and multiunit living Spaces, and use less energy to heat and cool,
tend to have lower carbon footprints than their suburban or rural counterparts, who dften have
bigger homes, use more energy to heat and cool, and typically drive themselves everywhere. A
2008 report by the Brookings Institution found that while New York City emitted 58.3 million
tons of carbon dioxide in 2005, the per person average of 7.1 tons was about a third of the
national average of 23.92 tons per person. Likewise, the 2006 per person emissions average in
London was about 6.18 tons—about half of the UK’s 2004 average of 11.19 tons.

As to the question about whose lives are> greener, while the high concentration of population
“and. b\isinesses in cities are often seen as a pollution problem, the research shows that the
average urban dweller makes the smaller carbon footprint. But sustainability refers to the
ability to conserve an ecological balance between consumption and production by avoiding
depletion of natural resources. When we talk about living a sustainable lifestyle, we are
speaking hot, just of limiting one’s carbon footprint but of things like producing one’s own
energy and foodstuffs while committing minimél d‘ainage to the environment. In rural areas,
there is considerably more space to grow one’s own food, to erect electricity-generating
windmills and solar panels, and to heat with solar water pgnels, local wood, and the

geothermal heat underground.

(41) In the first paragraph, which two concepts are equated?
(A) Sustainable living and rural living. :
(B) Sustainable living and the size of one’s carbon footprint. -
(C) Green living and sustainable living.
(D) Green living and the size of one’s carbon footprint.



(42) Which of the following would be the most sustainable method of production and consumption?
(A) Introducing an additional species into a local ﬁshery if that species is proven to be a
sustainable variety in other areas.

(B) Using only enough firewood gathered near home for heat so the wood burned is replaced
by new tree growth.

(C) Transporting organically grown corn that has the average number of food mlles
(D) Growing a crop of apples treated with chemical insecticides close to home.

(43) Residents of urban areas have smaller carbon footprinté than residents of rural areas because

(A) they consume a smaller percentage of the 1.5 billion cattle raised to feed the world.
(B) they are resp0n51ble for fewer food miles and they live in smaller hvmg spaces.
(C) they live in smaller living spaces and use public transportation more often.

(D) they live in relatively small living spaces and use more renewable energy.

(44) Which of the following statements can be deduced from the reading passage?

(A) There are more electricity generating windmills in urban areas than suburban areas.

(B) It is possible to live both a green lifestyle and a sustainable lifestyle.

(C) People who live in New York City live more sustainably than people who live in Alaska.
(D) Many residents of urban areas have balcony gardens.

(45) Based on the reading passage, how do we know that the concept of green living is included in

the concept of sustainability?

(A) Because part of the definition of sustainability states that no or little harm should be done
to the environment, and that is what green living is.

(B) Because the topic of sustainability is introduced before subtopics llke food miles, carbon
footprrnt and green living are discussed. ~

(C) Because green living includes the notion -of minimizing people’s carbon footprint, this
suggests sustainable living and sustainable development are also iricluded in its meaning.

(D) Because both notions apply to urban and rural areas and are measured by the overall health
of cornrnunmes
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